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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Use the visual modél to solve each problem. Answers

There are 6 hexagons below. 2) There are 9 squares below.
OXOXOXOXOX, OOC0OC0O0O0 L
If you were to take away 1, how many u
would be |eft? If you were to take away 7, how many 2.
6-1=7? would be left?

9-7=7? 3.

4.

There are 2 circles below. 4) There are 18 triangles below.
OO0 AAAAAAANA S,
If you were to take away 1, how many AAAAAAAA
would be left? A A 6.
2-1=7 If you were to take away 5, how many

would be left? 7.

18-5=7?

8.
There are 5 rectangles below. 6) Thereare 3 stars below.
000¢00«0 * WK .
If you were to take away 4, how many If you were to take away 1, how many
would be left? would be |€ft? 10.
5-4=7? 3-1=7
There are 20 sgquares below. 8) There are 6 hexagons below.
000000000 OXOXOXOXOX,
ooooooooo If you were to take away 4, how many
i would be left?
If you were to take away 16, how many 6-4="7
would be left?
20-16="7
There are 17 circles below. 10) Thereare 7 rectangles below.
Q000000000 0O0o000D¢a0an
©000000 If you were to take away 6, how many
If you were to take away 10, how many would be |eft?
would be left? 7-6=7?
17-10="7
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 1



=

1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

Use the visual modél to solve each problem. Answers

There are 6 hexagons below. 2) There are 9 squares below.
000000 DODDOOED L o
If you were to take away 1, how many u 2
would be |eft? If you were to take away 7, how many 2.
6-1=7? would be left?

9-7=7 3. 1

4. 13

There are 2 circles below. 4) There are 18 triangles below.
00 AAAAAAAA 5. 1
If you were to take away 1, how many AAAAAAAA 2
would be left? A A 6.
2-1=7 If you were to take away 5, how many

would be left? 7 4

18-5=7?

8. 2
There are 5 rectangles below. 6) Thereare 3 stars below.
010000 %o ¥ e J I
If you were to take away 4, how many If you were to take away 1, how many 1
would be left? would be left? 10.
5-4=7? 3-1=?
There are 20 sgquares below. 8) There are 6 hexagons below.
000000000 OXOXOXOXOX,
ooooooooo If you were to take away 4, how many
i would be left?
If you were to take away 16, how many 6-4="7
would be left?
20-16="7
There are 17 circles below. 10) Thereare 7 rectangles below.
Q000000000 0O0o000D¢a0an
©000000 If you were to take away 6, how many
If you were to take away 10, how many would be left?
would be left? 7-6=7
17-10="7
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 1
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Subtracting Visually Name:

Use the visual modél to solve each problem. Answers

1) Thereare6 circles below. 2) Thereare 13 pentagons below.
O00000O OACAOAOAGAOAS, L
If you were to take away 4, how many 000000
would be |eft? If you were to take away 10, how many 2.
6-4=7 would be left?

13-10="7 3.
4.
3) There are 3 hexagons below. 4) Thereare 7 circles below.
OXOXe; O00000OO0 5.
If you were to take away 1, how many If you were to take away 1, how many
would be left? would be left? 6.
3-1=7 7-1=7
7.
8.

5) There are 3 squares below. 6) Thereare 9 rectangles below.

OO I T VR T .
If you were to take away 2, how many If you were to take away 6, how many

would be left? would be left? 10.
3-2=7? 9-6="?

7) Thereare 12 stars below. 8) There are 18 rectangles below.

WK WKWK WKW 0oo0ooooodoan
¥ 0oooou0oaod

If you were to take away 9, how many If you were to take away 3, how many
would be left? would be left?

12-9=2? 18-3=7?

9) There are 16 triangles below. 10) There are 15 squares below.
AAAAAAAANAA OOO00O0O0on
AAAAAAA OOO0000O0
If you were to take away 4, how many If you were to take away 6, how many
would be left? would be left?
16-4=" 15-6="?

1-10 90|80 70|60 |50]40]30]20[10] O |

[ Math ] www.CommonCoreSheets.com 2
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Subtracting Visually Name: Answer Key
Use the visual modél to solve each problem. Answers
1) Thereare6 circles below. 2) Thereare 13 pentagons below.
000000 0000000 L 2
If you were to take away 4, how many 000000 3
would be |eft? If you were to take away 10, how many 2.
6-4=7 would be left?
13-10=" 3, 2
4 6
3) There are 3 hexagons below. 4) Thereare 7 circles below.
000 0000000 5 .
If you were to take away 1, how many If you were to take away 1, how many 3
would be |eft? would be |eft? 6.
3-1=7 7-1=7
7 3
8 15
5) There are 3 squares below. 6) Thereare 9 rectangles below.
ululs FEREEREE J 12
If you were to take away 2, how many If you were to take away 6, how many 9
would be left? would be left? 10.
3-2=7? 9-6="?
7) Thereare 12 stars below. 8) There are 18 rectangles below.
WK WKWK WKW 0oo0ooooodoan
PAGRAG 00000000
If you were to take away 9, how many If you were to take away 3, how many
would be left? would be left?
12-9=2? 18-3=7?
9) There are 16 triangles below. 10) There are 15 squares below.
AAAAAAAANAA OOO00O0O0on
AAAAAAA OOO0000O0
If you were to take away 4, how many If you were to take away 6, how many
would be left? would be left?
16-4=7 15-6=7?
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 2




c{}§1—7 Subtracting Visually Name:

Use the visual modél to solve each problem. Answers
1) Thereare 4 triangles below. 2) There are 20 pentagons below.
AAAA OACAOAOAGROAS, 1
If you were to take away 2, how many 0000000
would be left? 000000 2
4-2=7 If you were to take away 16, how many
would be left? 3.
20-16="7
4.

3) Thereare 15 circles below. 4) There are 2 squares below.
OO00O0OOOOOO 1 5.
00000 If you were to take away 1, how many
If you were to take away 4, how many would be | eft? 6.
would be left? 2-1=7
15-4=7? 7,

8.

5) Thereare 19 circles below. 6) Thereare 3 hexagons below.
OO00O0OO0OOOOOO0 (OXOXW, .
000000000 If you were to take away 2, how many
If you were to take away 7, how many would be left? 10.
would be left? 3-2=7
19-7=7?

7) Thereare 18 triangles below. 8) Thereare 11 circles below.
ANAAAAAANANAA OJOXOXOXOXOXO)
AAAAAAAAA OO00O0
If you were to take away 15, how many If you were to take away 1, how many
would be left? would be left?
18-15="? 11-1=7

9) Thereare 17 circles below. 10) Thereare 8 circles below.
O00000O0O0 Q000000
O00O0O0OO0O0 @)

O If you were to take away 5, how many
If you were to take away 14, how many would be left?

would be left? 8-5=7

17-14="7

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 3




C:# Subtracting Visually Name: Answer Key

Use the visual modél to solve each problem. Answers
1) Thereare 4 triangles below. 2) There are 20 pentagons below.
AAAA 0000000 L 2
If you were to take away 2, how many 0000000 4
would be left? 000000 2
4-2=7 If you were to take away 16, how many
would be left? 3. 11
20-16="7
4 1
3) Thereare 15 circles below. 4) There are 2 squares below.
0000000000 oo 5 12
00000 If you were to take away 1, how many 1
If you were to take away 4, how many would be left? 6.
would be left? 2-1=7
15-4="7 7. 3
8 10
5) Thereare 19 circles below. 6) Thereare 3 hexagons below.
0000000000 000 J 3
000000000 If you were to take away 2, how many 3
If you were to take away 7, how many would be left? 10
would be left? 3-2=7
19-7=7?
7) Thereare 18 triangles below. 8) Thereare 11 circles below.
ANAAAAAANANAA OJOXOXOXOXOXO)
AAAAAAAAA OO00O0
If you were to take away 15, how many If you were to take away 1, how many
would be left? would be left?
18-15="? 11-1=7
9) Thereare 17 circles below. 10) Thereare 8 circles below.
O00000O0O0 Q000000
O00O0O0OO0O0 @)
O If you were to take away 5, how many
If you were to take away 14, how many would be left?
would be left? 8-5=7
17-14="7

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 3
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Subtracting Visually

Name:

1)

3)

5)

7)

9)

Use the visual modél to solve each problem. Answers
There are 13 stars below. 2) There are 14 rectangles below.
WRKRK WKW VRV 1.
PAR AR A gk gk g 00000
If you were to take away 1, how many If you were to take away 13, how many 2
would be left? would be |eft?
13-1=7 14-13="7 3.
4.

There are 5 stars below. 4) There are 10 triangles below.
R WKW AAAAAAAAA S,
If you were to take away 2, how many A
would be left? If you were to take away 3, how many 6.
5-2=7? would be left?

10-3=? 7.

8.

There are 3 stars below. 6) Thereare 17 circles below.
PAGRAgRAg OO00000O0O .
If you were to take away 2, how many 0000000
would be left? 000 10
3-2=7 If you were to take away 4, how many

would be left?

17-4=7
There are 5 pentagons below. 8) There are 13 circles below.
ORCAOAOAS)] O00O0O0O0OO0
If you were to take away 4, how many 00000
would be left? If you were to take away 12, how many
5-4=7 would be left?

13-12=7
There are 2 circles below. 10) There are 12 stars below.
OO A AR AR dh % dh % db % A g A ¢
If you were to take away 1, how many W OW N
would be left? If you were to take away 5, how many
2-1=7 would be left?

12-5=7?

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 4
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Subtracting Visually

Name:

Answer Key

1)

3)

5)

7)

9)

Use the visual modél to solve each problem. Answers
There are 13 stars below. 2) There are 14 rectangles below.
Yo e Fo o K Fe e K INEERERER L -
PAR AR A gk gk g 00000
If you were to take away 1, how many If you were to take away 13, how many 2 1
would be left? would be |eft?
13-1="? 14-13="? 3, 3
4. 7

There are 5 stars below. 4) There are 10 triangles below.
e Yo Yo ¥ % AAAAAAAAA 5 1
If you were to take away 2, how many A 13
would be left? If you were to take away 3, how many 6.
5-2=7? would be left?

10-3=7? 7. 1

8 1

There are 3 stars below. 6) Thereare 17 circles below.
¥ ve % 0000000 J 1
If you were to take away 2, how many 0000000 7
would be left? 00O 10.
3-2=7 If you were to take away 4, how many

would be left?

17-4=7
There are 5 pentagons below. 8) There are 13 circles below.
ORCAOAOAS)] O00O0O0O0OO0
If you were to take away 4, how many 00000
would be left? If you were to take away 12, how many
5-4=7 would be left?

13-12=7
There are 2 circles below. 10) There are 12 stars below.
OO A AR AR dh % dh % db % A g A ¢
If you were to take away 1, how many W OW N
would be left? If you were to take away 5, how many
2-1=7 would be left?

12-5=7?

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 4




JL_

Subtracting Visually

Name:

Use the visual modél to solve each problem. Answers

1) Thereare 11 rectangles below. 2) Thereare 12 squares below.
0oo0ooo0oaonod OO00000000 L
0 0 OO
If you were to take away 2, how many If you were to take away 8, how many 2
would be left? would be left?
11-2=7? 12-8=7? 3.

4.

3) Thereare 11 stars below. 4) There are 10 rectangles below.
WWHWHRRRR oooooaoao .
% K 00°¢0
If you were to take away 10, how many If you were to take away 3, how many 6.
would be left? would be |eft?
11-10="7 10-3=7? 7.

8.
5) Thereare 15 stars below. 6) Thereare 12 triangles below.
KW KWW RRR AAANANANANANNANANANA 9.
W W W NN A NN
If you were to take away 2, how many If you were to take away 7, how many 10.
would be left? would be left?
15-2=7? 12-7=7?
7) There are 3 squares below. 8) There are 11 squares below.
L1 000000000
If you were to take away 2, how many OO
would be left? If you were to take away 1, how many
3-2=7 would be left?
11-1=7?

9) There are 20 rectangles below. 10) There are 11 rectangles below.
0o0000¢0d 0 goooooooaoan
00000¢0da a0
pooood If you were to take away 9, how many
If you were to take away 9, how many would be |eft?

would be left? 11-9=7?
20-9=7
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 5
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1)

3)

5)

7)

9)

Subtracting Visually Name: Answer Key
Use the visual modél to solve each problem. Answers
There are 11 rectangles below. 2) There are 12 squares below.
000000000 NOoOoOooooo L 9
0 0 OO
If you were to take away 2, how many If you were to take away 8, how many 2 4
would be left? would be left?
11-2="7 12-8="7 3. 1
4. 7
There are 11 stars below. 4) There are 10 rectangles below.
WWHWHRRRR oooooaoao 5. 13
¥ % K 00°¢0
If you were to take away 10, how many If you were to take away 3, how many 6. o
would be left? would be left?
11-10="7 10-3=7 7. 1
8 10
There are 15 stars below. 6) Thereare 12 triangles below.
e ¥ % o Fo K oK AAAAAAAAA J L
W W W NN A NN
If you were to take away 2, how many If you were to take away 7, how many 10. 2
would be left? would be left?
15-2=7? 12-7=7
There are 3 squares below. 8) Thereare 11 squares below.
L1 000000000
If you were to take away 2, how many OO
would be left? If you were to take away 1, how many
3-2=7 would be left?
11-1=7
There are 20 rectangles below. 10) There are 11 rectangles below.
0o0000¢0d 0 goooooooaoan
00000¢0da a0
pooood If you were to take away 9, how many
If you were to take away 9, how many would be |eft?
would be left? 11-9=7?
20-9=7
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 5
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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Use the visual modél to solve each problem. Answers
There are 13 circles below. 2) There are 9 hexagons below.
Q000000000 OXOXOXOXOXOXY; 1
000 OXe;

If you were to take away 1, how many If you were to take away 6, how many 2
would be left? would be left?
13-1=7? 9-6=7? 3,
4.
There are 13 squares below. 4) There are 14 hexagons below.
0000000000 OXOXOXOXOXOXOXOXW; 5.
O O (OXOXOXOXE,
If you were to take away 11, how many If you were to take away 7, how many 6.
would be left? would be left?
13-11="7 14-7=7 7.
8.
There are 10 rectangles below. 6) Thereare5 rectangles below.
0oo0o0oo0oaoodt 0o000dt .
0 If you were to take away 1, how many
If you were to take away 4, how many would be |eft? 10.
would be left? 5-1=7?
10-4="
There are 17 pentagons below. 8) There are 15 squares below.
OROAOACRORORORORY, 0000000000
OROAOAOACACACRS OOOcc
If you were to take away 2, how many If you were to take away 12, how many
would be left? would be |eft?
17-2=7 15-12="7
There are 12 circles below. 10) There are 5 rectangles below.
OO00O0OO0OOOOOO 0000d¢0
OO If you were to take away 4, how many
If you were to take away 3, how many would be |eft?
would be left? 5-4=7?
12-3=7?
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 6
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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

Use the visual modél to solve each problem. Answers
There are 13 circles below. 2) There are 9 hexagons below.
0000000000 0000000 L 12
00 OX®
If you were to take away 1, how many If you were to take away 6, how many 2 3
would be left? would be left?
13-1="? 9-6="7 3, 2

4. 7
There are 13 squares below. 4) There are 14 hexagons below.
DOoOoOooooooo 000000000 5. 6
O O (OXOXOXOXE,
If you were to take away 11, how many If you were to take away 7, how many 6. 4
would be left? would be left?
13-11=" 14-7="7 7. 15

8. 3
There are 10 rectangles below. 6) Thereare5 rectangles below.
000000000 00000 J 9
0 If you were to take away 1, how many 1
If you were to take away 4, how many would be |eft? 10.
would be left? 5-1=7?
10-4=7?
There are 17 pentagons below. 8) There are 15 squares below.
OROAOROACRORORORS; 0000000000
OROAOAOACACACRS OOOcc
If you were to take away 2, how many If you were to take away 12, how many
would be left? would be left?
17-2=7 15-12="7
There are 12 circles below. 10) There are 5 rectangles below.
OO00O0OO0OOOOOO 0000d¢0
OO If you were to take away 4, how many
If you were to take away 3, how many would be |eft?
would be left? 5-4=7?
12-3=7?

1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 6
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Subtracting Visually Name:
Use the visual modél to solve each problem. Answers
1) Thereare 9 triangles below. 2) Thereare 13 circles below.
AAAAAAAANA OCO0OO0O0OOOO0O0 1
If you were to take away 8, how many 0000
would be |eft? If you were to take away 7, how many 2.
9-8=7 would be left?
13-7=7 3
4.
3) There are 9 rectangles below. 4) There are 6 stars below.
0ooo0ooo0ao¢0an PAR G A ARk gh ke 5.
If you were to take away 5, how many If you were to take away 2, how many
would be left? would be left? 6.
9-5=7? 6-2=7?
7.
8.
5) Thereare 18 rectangles below. 6) Thereare 14 circles below.
0oo0oooooaoan O00O00O0O0 9.
0oo0o0oou0ad O0000O0O0
If you were to take away 9, how many If you were to take away 9, how many 10.
would be left? would be left?
18-9=7? 14-9=7?
7) There are 2 squares below. 8) There are 14 rectangles below.
10 0o0o0o00aood
If you were to take away 1, how many 000000
would be left? If you were to take away 5, how many
2-1=7 would be left?
14-5=7?
9) There are 8 hexagons below. 10) Thereare 3 circles below.
COOOOOOO Q00
If you were to take away 2, how many If you were to take away 1, how many
would be left? would be left?
8-2=7? 3-1=7?
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 7
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Subtracting Visually Name: Answer Key
Use the visual modél to solve each problem. Answers
1) Thereare 9 triangles below. 2) Thereare 13 circles below.
AAAAAAADLA 000000000 L 1
If you were to take away 8, how many 0000 6
would be |eft? If you were to take away 7, how many 2.
9-8=7 would be left?
13-7=72 3. 4
4. 4
3) There are 9 rectangles below. 4) There are 6 stars below.
0000000001 Fe e Yo ¥ o I 5 9
If you were to take away 5, how many If you were to take away 2, how many 5
would be left? would be left? 6.
9-5=7? 6-2=7?
7 1
8. 9
5) Thereare 18 rectangles below. 6) Thereare 14 circles below.
0000000D000@ 0000000 0 6
0oo0o0oou0ad O0000O0O0
If you were to take away 9, how many If you were to take away 9, how many 10. 2
would be left? would be left?
18-9=7? 14-9=7?
7) There are 2 squares below. 8) There are 14 rectangles below.
10 0o0o0o00aood
If you were to take away 1, how many 000000
would be left? If you were to take away 5, how many
2-1=7 would be left?
14-5=7
9) There are 8 hexagons below. 10) Thereare 3 circles below.
COOOOOOO Q00
If you were to take away 2, how many If you were to take away 1, how many
would be left? would be left?
8-2=7? 3-1=7?
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 7
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Subtracting Visually

Name:

Use the visual modél to solve each problem. Answers
1) Thereare 15 stars below. 2) Thereare 8 triangles below.
KHHWWRRRKRKW VANVANVANVANVANVANVANAN 1
WX If you were to take away 4, how many
If you were to take away 8, how many would be |eft? 2
would be left? 8-4=7
15-8="? 3.
4.
3) There are 6 squares below. 4) There are 5 rectangles below.
OO0000 000¢0§« 0 5.
If you were to take away 2, how many If you were to take away 1, how many
would be left? would be left? 6.
6-2=7 5.-1=°?
7.
8.
5) There are 20 pentagons below. 6) Thereare 8 stars below.
OACAOAOAGROAS, WW W W W WKW .
0000000 If you were to take away 6, how many
000000 would be left? 10.
If you were to take away 4, how many 8-6=7
would be left?
20-4=7
7) There are 10 squares below. 8) Thereare 19 stars below.
O0O0OO0C000 W W W W W WWW
OO0 WWWWWWWW
If you were to take away 8, how many wON N
would be left? If you were to take away 10, how many
10-8=7? would be left?
19-10="7
9) There are 16 rectangles below. 10) There are 6 squares below.
0oo00o00aodtd OOO0c0dmn
pooooood If you were to take away 1, how many
If you were to take away 5, how many would be left?
would be left? 6-1=7?
16-5=7?
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 8
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Subtracting Visually Name: Answer Key
Use the visual modél to solve each problem. Answers
1) Thereare 15 stars below. 2) Thereare 8 triangles below.
e Yo Yo % Fe He Aok Fo % AAAAAAAA ! !
WX If you were to take away 4, how many 4
If you were to take away 8, how many would be |eft? 2
would be left? 8-4=7?
15-8="? 3 4
4. 4
3) There are 6 squares below. 4) There are 5 rectangles below.
ululul=l=l= 00000 5 16
If you were to take away 2, how many If you were to take away 1, how many 2
would be |eft? would be left? 6.
6-2=7 5.-1=°?
7 2
8. 9
5) There are 20 pentagons below. 6) Thereare 8 stars below.
0000000 Fe o Yo Fe He K o K 0 -
0000000 If you were to take away 6, how many
000000 would be left? 10. o
If you were to take away 4, how many 8-6=7
would be left?
20-4="7
7) There are 10 squares below. 8) Thereare 19 stars below.
O0000800 PG ER A ARk gk SR A A
OO0 WWWWWWWW
If you were to take away 8, how many wON N
would be left? If you were to take away 10, how many
10-8=7? would be left?
19-10="7
9) There are 16 rectangles below. 10) There are 6 squares below.
0oo00o00aodtd OOO0c0dmn
pooooood If you were to take away 1, how many
If you were to take away 5, how many would be left?
would be left? 6-1=7?
16-5=7?
1-10 90|80 70|60 |50]40]30]20[10] O |
[ Math ] www.CommonCoreSheets.com 8
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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Use the visual modél to solve each problem. Answers
There are 13 triangles below. 2) Thereare 15 triangles below.
AAAAAAANANAA AAAAAAANANAA 1
AAA ANANAAAA
If you were to take away 1, how many If you were to take away 5, how many 2
would be left? would be left?
13-1=7 15-5=7? 3.

4.
There are 11 stars below. 4) There are 13 squares below.
WHHRWRR HEEEEEEE 5.
PAGRAgR gk HEEEE
If you were to take away 4, how many If you were to take away 4, how many 6.
would be left? would be left?
11-4=7° 13-4=7? 7.
8.

There are 6 stars below. 6) Thereare 18 stars below.
KWW WKW W W W W W W W .
If you were to take away 1, how many WW W W R KW
would be left? PAGR AR ARk g 10.
6-1="7 If you were to take away 10, how many

would be left?

18-10="7
There are 10 squares below. 8) Thereare 9 circles below.
OO00000000 OO00000OO0
[] OO
If you were to take away 2, how many If you were to take away 3, how many
would be left? would be left?
10-2=7? 9-3=?
There are 5 stars below. 10) There are 15 hexagons below.
WW WKW COOOOOOOOO
If you were to take away 1, how many SACACACAS
would be left? If you were to take away 1, how many
5-1=7? would be left?

15-1="?
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1)

3)

5)

7)

9)

Subtracting Visually

Name:

Answer Key

Use the visual modél to solve each problem. Answers
There are 13 triangles below. 2) Thereare 15 triangles below.
AAAAAAANANAA AAAAAAANANAA 1 12
AAA ANANAAAA
If you were to take away 1, how many If you were to take away 5, how many 2 10
would be left? would be left?
13-1="7 15-5="7? 3 4

4 9
There are 11 stars below. 4) There are 13 squares below.
Fe Yo Yo ¥ o ¥ He DEEENEEEE 5 o
PAGRAgR gk HEEEE
If you were to take away 4, how many If you were to take away 4, how many 6 8
would be left? would be left?
11-4="? 13-4="? 7 8
8 6

There are 6 stars below. 6) Thereare 18 stars below.
KWW WKW W W W W W W W 9 4
If you were to take away 1, how many WW W W R KW 14
would be left? PAGR AR ARk g 10.
6-1="7 If you were to take away 10, how many

would be left?

18-10="7
There are 10 squares below. 8) Thereare 9 circles below.
OO00000000 OO00000OO0
[] OO
If you were to take away 2, how many If you were to take away 3, how many
would be left? would be left?
10-2=7? 9-3=?
There are 5 stars below. 10) There are 15 hexagons below.
WW WKW COOOOOOOOO
If you were to take away 1, how many SACACACAS
would be left? If you were to take away 1, how many
5-1=7? would be left?

15-1=7?

1-10 90|80 70|60 |50]40]30]20[10] O |
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Usethevisual model to solve each problem.

1)

3)

5)

7)

9)

Subtracting Visually

Name:

There are 12 squares below.
OO EEEEE OO
O O£

If you were to take away 4, how many
would be left?

2) Thereare 20 hexagons below.
OXOXOXOXOXOXW,
OCOOOOOO
OXOXOXOXOX®]

If you were to take away 12, how many

Answers

12-4=7 would be left? 3.
20-12="7

4.
There are 16 squares below. 4) There are 17 hexagons below.
AENEEEEE CQOOOOOOOOO S,
HEEEEEE OXOXOXOXOXOXE]
EE If you were to take away 5, how many 6.
If you were to take away 11, how many would be |eft?
would be |eft? 17-5=7 7.
16-11="7

8.
There are 4 stars below. 6) Thereare 6 rectangles below.
W W W W 000000 T .
If you were to take away 2, how many If you were to take away 4, how many
would be left? would be left? 10.
4-2=7? 6-4="?
There are 17 rectangles below. 8) There are 11 pentagons below.
0oo0o0oo00oaonod Q00O 0Q0
0oooo0ad OROR0]
If you were to take away 10, how many If you were to take away 6, how many
would be left? would be left?
17-10="7 11-6=7
There are 18 pentagons below. 10) Thereare 9 triangles below.
OROAOACAOROAS AAAAAAAAA
0000000 If you were to take away 7, how many
0000 would be left?
If you were to take away 7, how many 9-7=7
would be left?
18-7=7?

1-10 90|80 70|60 |50]40]30]20[10] O |
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Subtracting Visually

Name:

Answer Key

Use the visual modél to solve each problem. Answers
1) There are 12 squares below. 2) Thereare 20 hexagons below.

ms[sls]sissisls 0000000 L 8

O O£ COOOOOO

If you were to take away 4, how many COOO00O0 2 8

would be left? If you were to take away 12, how many

12-4=2 would be left? 3. o)

20-12=7
4. 12

3) There are 16 squares below. 4) There are 17 hexagons below.

DEEEEEE 0D00000O00O 5. 2

HEEEEEE OXOXOXOXOXOXE,

EE If you were to take away 5, how many 6. 2

If you were to take away 11, how many would be |eft?

would be left? 17-5=2 7. 7

16-11="7

8 5

5) Thereare 4 stars below. 6) Thereare 6 rectangles below.

Fe e Yo fe 000000 J 11

If you were to take away 2, how many If you were to take away 4, how many 2

would be left? would be left? 10.

4-2="7 6-4=7
7) There are 17 rectangles below. 8) There are 11 pentagons below.

0oo0o0o0o00¢0an ORORORCRORORORS;

00000000 Q0O

If you were to take away 10, how many If you were to take away 6, how many

would be left? would be left?

17-10="7 11-6=7
9) There are 18 pentagons below. 10) Thereare 9 triangles below.

OROAOACAOROAS AAAAAAAAA

0000000 If you were to take away 7, how many

0000 would be left?

If you were to take away 7, how many 9-7=7

would be left?

18-7=7

1-10 90|80 70|60 |50]40]30]20[10] O |
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